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[Gamma Function 1 (cases, line)]

I 1 (a):: '(a—l)!
sin(m-a)-I' 1(1-a)
aT::a—l

x:=0.99999999999999709182

g:=4.7421875
for i€ [1..length(# p)]
#_p i

X=X +

a,+1

ti=a,+g+0.5

if a=trunc(a) Clear(X ;1 ;9 ;¢ ;aT]=1

if a<o0.5 1—»_1(0,2):4.5908

otherwise I 1(5.46)=49.0839

solve (I 1(x)-120;x ;1;10)=1

lastError = "Cannot calculate."
IsDefined(t)=0
IsDefined(x)=0
IsDefined(i) =1
IsDefined ( g) =0

1.25 IsDefined[aT]=0
a,+0.5 L x:=1
S 1.25 T - =
- _t sDefined|a 0
. 1.25 .[e ) '_'2-n-x] [ T]
) Clear[X ;1 ;9 ;¢ ;aT]Il
[Gamma Function 2 (cases, no line)]
'(a—l)! if a=trunc(a) Clear(X ;i:9;t ;aT]:l
n
i <0.5 =
sin(m-a)-I 2(1-a) e 02—
ai=a-1 otherwise I 2(5.46)=149.0839
x:=0.99999999999999709182 solve(l"_Z (X)—120 X ;1 ;10)=6
gi=4.7421875 lastError="I 2(#) - function is not defined."
oo __||for i€ [1..length(# p)] -
L2 (a)=1 # b . IsDefined(t)=1
x:=x+ 3 +Ji IsDefined(x)=1
T IsDefined(i)=1
ti=a,+9+4+0.5 IsDefined(g)=1
1.25 IsDefined[aT]=l
a,+0.5 1 x:=1
e — 1.25 .
. —t IsDefined(a.|=1
e 1.25 .(e ) ,—.2.H_X] [ T]

a,=0
x=1
g=4.7422
t =5.2422
i=14

Clear(X ;1;9 ;t ;a ]=l

=
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[Gamma Function 3 (if, line)]

I 3 (a)::

if a=trunc(a)
(a—1)!
else
if a<0.5
I
a)-r 3(1-a)

sin(m
else

aT.:a—l

x:=0.99999999999999709182
g:=4.7421875

for i € [1..length(#_p)]
#_pi
X:=eval X+aT+i

t==eval[aT+g+0.5]

Clear[X ;1 ;9 ;t ,aT] 1
I 3(0.2)=14.5908

3(5.46)=49.0839

solve (I _3(x)-120 ;x ;1 ;10)=

lastError="x - not defined."

IsDefined ( ) 0

IsDefined(x)=
IsDefined(i)=1
IsDefined( )= 0
IsDeflned[ ] 0
x:=1

IsDeflned[a ] =@

. 1.25
+0.5 Cl ;€ ; 1
aTl 25 t 1.25 ear[x SR aT]
t : .[e - ,2.1-[ 'X]
[Gamma Function 4 (if, no line)]
I 4(a):=if a=trunc(a)
(a_l)! Clear[X ;1;9 ;t ;aT]:l
else
if a<0.5 i 4(0'2):
sin(m-a)-I 4(1-a) I' 4(5.46)=149.0839
else lastError="T 4(#) - function is not defined."
a,i=a — 1l
solve(I_4(x)-120 ;x ;1 ;10)=
X:=0.99999999999999709182
g:=4.7421875 lastError ="x - not defined."
for i€ [1..length(# p)] IsDefined(t)=1
# p IsDeflned( ) 1
X:=eval | x + _ l IsDefined(i)=1
ap+1i IsDefined(g)=1
t = 1 +g+0.5 IsDefined 1
eva [aT g ] | [ ]
aT+0.5 1 -2 IsDeflned{aT]:l
_ . 1.25
t .29 -[e_ J2-n x] Clear(X i1;:9;t ;aT]=1

f(x)=if x<5 g(v)=|if y<5 G._p2 if £<5
a:=x z::y2 r(t): s+ t
a—+ x z+y 3
else else t otherwise
%> P r(4)=20 h(4)=20
f(4):20 g(4):20 Solve(f(X)—ZO ;X ;1 ,-]_O): s=16 j:.
a=16 z=1

solve(g(X)—ZO ;x ;1 ;10)2

h(7):= ] j
(7) jemg2 Af 3<S
k+7
J otherwise
solve(r (x)—20;x ;1;10)=4
solve(h(x)—-20;x ;1;10)=4



